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POINT 1:

The semicolon is a convenient form of punctuation that for the most part helps to provide clarity when there is complicated internal punctuation.  Its main use is in long lists of groups of items separated by many commas. For instance:


We bought apples, oranges, and bananas; black socks, white socks, and other underwear; and toiletries, such as soap, toothpaste, deodorant, and lotion.

Although we can punctuate this long list of items by simple commas, the semicolons allow us keep the items in distinct groups—fruit, underclothes, and toiletries—and this form of punctuation enhances the readability.
POINT 2:

Another function of the semicolon is to separate two independent clauses in the absence of a conjunction. In Russian two independent clauses are normally written without a conjunction, separated by a comma. In English grammar, this is improper; there should either be a conjunction between the clauses, or a semicolon between them in lieu of a conjunction.  For instance:


I have a blue car, and you have a red car.

I have a blue car; you have a red car.

POINT 3:

One of the most widespread situations met in translations of Russians science articles is two independent clauses that are related, but in the second independent clause, there is an omitted item. In Russian this is expressed with a long dash (em dash). This form of punctuation cannot be carried over into the English translation; a semicolon and a comma must be used. For instance:

I have a blue car; you, a red car.   (Not: I have a blue car; you—a red car; У меня синяя машина, у тебя—красная.)
POINT 4:

Another situation that is met in translation of Russian science articles into English is an independent clause followed by a coordinating conjunction.  If the independent clause following the coordinating conjunction is the end of the sentence, that is, it is followed directly by a period, the coordinating conjunction itself must be offset from the main clause by a semicolon, and it must be offset from the subsequent independent clause by a comma. The most common instance is in the translation of the Russian то есть. For instance:

The rise in temperature is erratic; i.e., it reaches high levels in a jumplike manner.



POINT 5:

If in the case of an independent clause following a coordinating conjunction, the independent clause interrupts the main clause, i.e., the sentence continues after the independent clause, the coordinating conjunction is offset on either side simply by commas and the independent clause is offset by the continuing main clause by a comma.

The above point serves as its own example (see boldface).  
Two independent clauses separated by a conjunction








Two independent clauses separated by a semicolon








Comma denotes omitted word “have”





Coordinating conjunction followed by independent clause





Coordinating conjunction followed by independent clause that interrupts the sentence.








